
����� 3

��	
����
�

1. ����
���������������� 	
��� ����������
��
	���

��������	
����	
���� �����������������������������������
�� modified    
Pikovskaya-s medium �����/��/��0����
1�����	�2/�����1������	
���3��� 2.6 x 107- 5.8 x 108 

cfu ���?�0� ������1������@�	?�����������	
��������?����A�B��������?C@���	
���D?�@�	 ��	����
����	
����	
�������?����A�B�����������?C@����1������0E�A�� 4.8 x 107-7.3 x 108 A�B 1.7 x 107-
3.8 x 109 cfu ���?�0� ����I��0� �I���0�C@�����1�
?���J�K?�B���K����1�����C����������	
���
���J�K�����?�����A�B2�����1
���L���A�?������D?�@�	 A�B��������	
�����������?C��C@��K0�M�

�
?A��1N��������1�
?���������2�����1
���1������
�?���K0�M�
�O�� P ���1�
?���J�K���	�?0� (3.8 x 
109 cfu ���?�0�) A�����J�K������1
�K���� ��������	
�����������?C��C@��K0�M�
C����?�B�� 105 
��1������
�?���K0�M�
�O�� P (2.2 x 109 cfu ���?�0�) (�������� 4 A�B 5) ����C@�����1�
?���J�K
A1��1�
?K������������	
����� �����������?KO3 A�B?������1������?�@�L�	�?0� (�������� 4)

 
�
���� 4 1�����C����������	
����	
������ �����������? A�B?����C��C@��K0�M�
 ���� P ���1�
?
��3������BA�B (�J�K?�B���)

1�������������	
 (cfu ���?�0�)
C@�� ?�����1
�

��� �����������? ?����
���1
� 2��2�@�?D��0��	��� 2.2 + 0.2 x 109 1.2 + 0.2 x 108

C����?�B�� 105
2�����1
� 2��2�@�?D��0��	��� 7.3 + 0.2 x 108 2.9 + 0.3 x 108

���1
� 2.22 + 0.35  x 107 1.0 + 0.2 x 109 5.7 + 0.4 x 107

�
?A��1N�����
2�����1
� 4.78 + 0.42  x 107 3.8 + 0.3 x 109 2.7 + 0.4 x 108

���1
� 2��2�@�?D��0��	��� 2.3 + 0.3 x 108 4.4 + 0.4 x 108

3�����
2�����1
� 2��2�@�?D��0��	��� 1.6 + 0.2 x 108 2.9 + 0.4 x 108

���1
� 2��2�@�?D��0��	��� 1.1 + 0.3 x 109 7.3 + 0.3 x 108

�����	
2�����1
� 2��2�@�?D��0��	��� �@�C@����	 �@�C@����	
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�
���� 5 1�����C����������	
����	
������ �����������? A�B?����C��C@��K0�M�
��K������� 2 ���
1�
?��3������
��TB (�J�KA1��1�
?)

1�������������	
 (cfu ���?�0�)
�J�KA1��1�
?C@��

��� �����������? ?����
2�����1
� 2�����1�U	 5.8 + 0.4 x 108 5.7 + 0.4 x 107 4.8 + 0.3 x 107

2�����1
�A�����1�U	���1?�� 2.0 + 0.5 x 108 1.7 + 0.1 x 107 3.7 + 0.4 x 108

���1
� 1.25 �0����2��A�B���1�U	
���1?��

2.6 + 0.3 x 107 2.5 + 0.3 x 107 8.8 + 0.3 x 107

2. 	
���#
�$�
�#
�
�%&
�������������	
���� �
�'(���
(��)
#)
��#

��??��A	?�3OE���������	
��?����C����� ?���� A�B�����������?C@�� K�   ��
������	
�I���� 157 ��	K0�M�
 A�B��O���I�?��L0���O�?��OE���@���	K��������??�������������C��
��������	
��������
�� modified Pikovskaya-s medium ������/��/��0����
1�����	�2/��� K�
����� 44 ��	K0�M�
��������������������2�@�	��������D� (�����2�@��0���?��� 24 30�����) A�B��O���I� 
44 ��	K0�M�
�0�?���������E	�������������1V����� 12 �0� ?��������L�����������?��W���
���2��
A����/��/����K���� K���3C�������������E	��3OE��0E� 44   ��	K0�M�
������?K���3 4 ��
�	
���3��� 2.44-2.92 A�B��L���C������ 630 ���������	
���3��� 0.11-1.39  (�������� 6) A�BK������
��������	
�K�	� 2 ��	K0�M�
�����0E����������W������2��
A����/��/����A�B�����������������
2�@��?�����	K0�M�
�O�� P ��	K��������?L���C���LO���	K0�M�
�������0� RSNF10 ����A	?2�@��?��?
C@��K0�M�
��K������� 2 ��A1�����2����?�����1
�A�B2�����1�U	 ��?��?���C�����2��
 614.43 ����
����������������������A�B�0�L���C���C���3OE�2�@ 1.04 A�B��	K0�M�
�������0� SHKN8 ����A	?2�@
��??����C��C@��K0�M�
C����?�B�� 105 ��?��?���C�����2��
��I�?�����	K0�M�
A�?LO� 441.30 
�������������������������� A�B�0�L���C���C���3OE�2�@ 1.39 (�������� 6) A�B���A�@������2��

��?�3OE���	K0�M�
�������0� SHKN8 �B��?��?�����I�?������2��
��?��	K0�M�
�������0� RSNF10 A��
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�3OE� SHKN8 �����������������2�@��?����3OE� RSNF10 ��O��K��������?L���C��� �0��0E�����I��3OE�
�0E������	K0�M�
21�����L�����0���O�� P ���21

3. 	
�������$�������&
����������� 2 #
��+�,�������	��	���&
��
�'(���
(��-)
#)
��##.�

��??���I��3OE� RSNF10 A�B SHKN8 ����A	?2�@��?��?A�B?����C��C@��K0�M�

��K������� 2 A�BK0�M�
C����?�B�� 105 ���1�
?�����?���0�21���L��B�
�I��0����A�B���	��L�	�
3���C����������	
K���� �3OE��0E������	K0�M�
�0��	
���?���� Ustilago sp. (�0��0� : Ustilaginales, ��f

: Ustilaginaceae, �?�� : Ustilago) �����1V�	���
3��������������
1����C������
�1V�����A�B����
�B��
�0E�����O���3OE��������������D���� (�
1��� 1) ��	�L����C���3OE��0E����   ��	K0�M�
����L��� ������C��
C���L��������		�� A�B2�@?I������@�3OE� RSNF10 A�B SHKN8 �1V� Ustilago sp.  ��	K0�M�
 
AR101 A�B AR102 ����I��0� (�������� 7)

 
�
���� 6 ?��1��1���	���2��
A����/��/����C����������	
��0���?���E	��1V����� 12 �0�

L���C��� A����/��/���� L���C���
A����/��/�

���

��0�
K�

��3
��� 630

nm
(absorba

ne)

(����������
����������������)

��0�
K�

��3
��� 630

nm
(absorba

ne)

(����������
�������

���������)

SL(4) 2.80 0.21 0.00 RKN(6) 2.73 0.97 0.00
SL(24) 2.64 0.75 0.00 RKN(8) 2.83 0.84 0.00
SLN(4) 2.71 0.81 0.00 RKN(9) 2.70 0.75 0.00
SLN(5) 2.75 0.70 0.00 RKN(12) 2.80 0.47 0.00

SLN(27) 2.81 0.81 0.00 RKN(18) 2.64 0.47 0.00
SLN(28) 2.87 0.67 0.00 SHCN(11) 2.44 0.97 0.00
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SLN(34) 2.57 1.07 0.00 SHCN (13) 2.74 0.21 0.00
SLN(35) 2.51 1.01 0.00 SHCN(21) 2.64 0.79 0.00
SHLN

(7)
2.66 0.97

0.00
SHCN(23) 2.87 0.84

0.00

SHLN
(23)

2.70 1.01
0.00

SHCN(24) 2.80 0.88
0.00

SHLN
(26)

2.72 0.76
0.00

RCN(10) 2.57 0.97
0.00

SHLN
(30)

2.84 0.61
0.00

RCN (22) 2.68 1.09
0.00

SHLN
(31)

2.50 1.12
0.00

RCN(25) 2.83 0.80
0.00

SHLN
(32)

2.68 1.02
0.00

SSN(NF)(5) 2.81 0.38
0.00

RLN(3) 2.77 0.76 0.00 SHS(F)(19) 2.52 1.06 0.00
RLN
(29)

2.78 0.87
0.00

SHSN(F)(2) 2.83 0.72
0.00

RLN
(33)

2.46 0.99 0.00
SHSN(NF)

(16)
2.71 0.93

0.00

SHKN

(8)
2.54 1.39 441.30 RS(F)(9) 2.76 0.79

0.00

SHKN
(9)

2.78 0.84
0.00

RS(F)(20) 2.80 0.28
0.00

SHKN
(10)

2.72 0.76
0.00

RS(F)(25) 2.53 1.01
0.00

SHKN
(20)

2.72 0.11 0.00 RSN(F)(7) 2.92 0.81
0.00

SHKN
(21)

2.66 1.01 0.00 RSN(F)(10) 2.81 1.04 614.43
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�
���� 7 3���C����������	
���L0�A	?��?C@�����1�
?�����?���0�
��0� ��	K0�M�
 C@�� ����������?D� genus

RSNF10 AR101 ��K������� 2 �����������? Ustilago sp.
SHKN8 AR102 C����?�B�� 105 ?���� Ustilago sp.

�.���� 1 �0?l�B����
C���3OE� Ustilago sp. ��	K0�M�
 AR101 (?) A�B AR102 (C) ���W���?��	@���� 
simple stain ��O�����W���?�@��������f�
?I��0�C	�	 400 ����

4. ��&
����
� >
	��	���&
��
�'(���
(��)
#)
��#��������>
��
	���?
         Ustilago sp.

���2��
A����/��/�����������I����2�@����B�0�K���3 3.5-4.5 ��	���K���3 3.5 
���2��
����1��1���	��?�3OE� Ustilago sp. AR101 A�B AR102 ��?��?����
������� LO� 3,690 A�B
956 ������������������������ ����I��0� ��	���2��
��?��	K0�M�
 AR101 ��?��?����
�?���
��	K0�M�
 AR102 30���� ��O���B�0�K���3�	
���3��� 2-3 ?��?���C�����2��
�	
����B�0������I���? 
A���B�K���C�E��	��������D���O���B�0�K���3�K���C�E��1V� 3.5 �	���2�?D�����O��   K���3�K����
�C�E����	
�
���B�0� 3.5-4.5 K����?��?���C�����2��
�����	��������D� A�B2�������������?��?���
C�����2��
��E2�@��O��K���3�	
����B�0�����
�?��� 5.5 (�
1��� 2)

(	) (�)
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�.���� 2 W�C��K���3���?��?���C�����2��
A����/��/�������1��1���	��?�3OE� Ustilago sp.       
AR101 A�B AR102

5. ��,�	
���#
�	
������>
�)
#)
�+#�
	B(�����')�� B�����?
      Ustilago sp.

?������3OE���	K0�M�
 AR101 A�B  AR102 �0E����W���?���@�A�B2��W���?���@�����
����B��	�����	�2/����I���@K���3C������B��	������D?�@�	  ��O�����	�?0���������
�������EI�
?�0��A�B��������E	��3OE� (�
1��� 3?) ��O�������?��?���C�����2��
A����/��/������0���?���
�3OE�������B��	K���� ���K�	���������
�������3OE�����2��W���?���@������0E������?��?���C�����2��

�?��C�E� ��	��������
�������3OE���	K0�M�
 AR101 ��?��?���C�����2��
�	
�����B�0� 49-54 �������
������������������� �����
�?�����������
�������3OE���	K0�M�
 AR102 (4-10  �����������������
���������) (�
1��� 3C) ��O��K������?��1��1���	/��/��0�K���� ��������
�������3OE���	K0�M�
 
AR101 A�B AR102 ����2��W���?���@�������1��1���	/��/��0���?��2�@��0���?����1V����� 
14 30����� ����?0� 2.67 A�B 1.99 �����?�0�������� ����I��0� A�B��O��������21��L�� 24 30����� 
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/��/��0��
?1��1���	��?���K���C�E�2����?�0? (�
1��� 3L) ��O���0��I�����3OE��0E������	K0�M�

��0���?����3OE�������B��	�����	�2/��� K�����I�����3OE��K���C�E���D?�@�	��0���?����1V����� 
14 30����� A�B��O�����L�� 24 30�����K�����I�����3OE���?���1���	�A1���@�	��? (�������� 8) ��	
2��K��3OE�����������
�O�� P

�.���� 3 ?���1���	�A1��K���3 (?) ?��?���C�����2��
A����/��/���� (C) A�BL����C@�C@�C��
/��/��0����
1����1V�1�B�	3�
 (L) ��3���������@�A�B��0�����3OE� Ustilago sp. AR101
A�B AR102 ����?0�����B��	�����	�2/��� (ns = 2����L���A�?������������ A�B ** = 
A�?��������������� P = 0.01) (I = L���L����L�O�������p��)
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�
���� 8 �I��������
�����3������0���?����3OE�  Ustilago sp. ����?0�����B��	�����	�2/���
1�������������	
 (cfu ������������)

��������

������@� 14 30����� 24 30�����

�EI�?�0��q���3OE� 0 0 0
��������E	��3OE� 0 0 0
AR101 (�@�) 0 0 0
AR101 (2���@�) 4.3 + 0.4 x 106 8.0 + 0.4 x 106 9.8 + 0.5 x 106

AR102 (�@�) 0 0 0
AR102 (2���@�) 4.6 + 0.2 x 106 7.8 + 0.3 x 106 8.1 + 0.7 x 106

6. $�
�#
�
�%&
����?
 Ustilago sp. ��	
����
�B(�����')��  
��.���+�    ')��  ���'


�
�')�� 

�3OE� Ustilago sp. �0E������	K0�M�
������1��1���	/��/��0���?�����	�   2/
�����@��?���	
����
1����1V�1�B�	3�
2�@ ��	���B	B�����������?0���	K0�M�
 AR101 1��1���	
/��/��0���?��2�@�
�?�����	K0�M�
 AR102 (3.24 A�B 1.80 �����?�0�������� ����I��0�) ��O��
1���	��@	��	���	����	�2/������21��L�� 24 30����� /��/��0�?D2��2�@�
?1��1���	��?��
�K���C�E�A���	����� (�������� 9) ��C�B����3OE��0E������	K0�M�
������1��1���	/��/��0���?2�
���2/���A�B�B�
���0�2/�����?��2�@�@�	��?

 
�
���� 9 L���������C���3OE� Ustilago sp. ��?���B��	�����	�2/��� �B�
���0�2/��� A�B
2����2/���

/��/��0�����
?1��1���	 (�����?�0��������)
��������


�B	B������?�����
(30�����) �����	�2/��� �B�
���0�2/��� 2����2/���

0 1.30 + 0.01 trace trace
14 1.45 + 0.00 trace trace

Control
(2������3OE�) 24 1.29 + 0.05 trace trace

F-test ns - -
C.V. (%) 14.56 - -

0 1.68 + 0.04b trace trace
AR101 14 3.24 + 0.12a trace trace


